N _
(€ CubeSkills
=/

One-Handed OLL Algorithms

Developed by Feliks Zemdegs
and Andy Klise

Algorithm Presentation Format

H . Round brackets are used to segment algorithms to
Suggested algorithm here assist memorisation and group move triggers.
Alternative algorithms here
|] OLL Case Name - Probability = 1/x It is recommended to learn the algorithms in the
order presented.

All Edges Oriented Correctly

RU2ZR'U'RU'R RUR URU2'R’ H
YRURUR UZR yRUZRURUR

| H OCLLS6 - 26 - Probability = 1/54 OCLLY7 - 27 - Probability = 1/54

7 0] (RUZ'R)(U'RUR)(U'RUR) Lo 11 B 11 B {1y H

[ 1 || ocLL1-21-Probabilty = 1/108 OCLL2 - 22 - Probabllty = 1/54 I
y RURU2)(RURU2) RUR URU'R) Y2FRUR U)(RUZR'U)F {

RN ey y2(RU2R'U)RURU) (RURU)(RURY)
(RURU)L' (URU'R)L YURUDURU)
— OCLL4 - 24 - Probabllty = 1/54 OCLLS5 - 25 - Probability = 1/54 .
(RUR'URU2)(R2 U'RU'R U2'R)
y(RUR'U) (RU'R U2)(RU'R U2) (RUR)
y2R2'D'(RU2'R) D (RU2'R)
L L1 ocLL3 - 23 - Probabilty = 1/54

T-Shapes
(RUR'U)(R'FRF) FRURU)F H
T1 - 33 - Probability = 1/54 T2 - 45 - Probability = 1/54 H




Squares

—

”(r'UZ'RUR'Ur)

$1 - 5 - Probability = 1/54

C-Shapes

——

[RUR2'U)(RFRU)RU'F
(RURU)Y ("URUrR)
C1 - 34 - Probability = 1/54

W-Shapes

—

H(R' U'RU)(R'URU)X (RU'R'U)
W1 - 36 - Probability = 1/54

Corners Correct, Edges Flipped

(fUR'U)FR(URU'R)
E1 - 28 - Probability = 1/54

P-Shapes

—

(RU'F)(URU'R)FR
(rUr)yRURURU)(RUR)
(rU2R'U) (R2U'L'U)R'U'

P1 - 31 - Probability = 1/54

yRUFUFR
” P3 - 43 - Probability = 1/54

(rU2ZR'U'RU'T)
S2 - 6 - Probability = 1/54

RU'(RFRF)UR
C2 - 46 - Probability = 1/54

(RUR'U)(RUR'U)(R'FRF)
W2 - 38 - Probability = 1/54

(RUR'U)rR (URU'F)
E2 - 57 - Probability = 1/108

yXx' (URUR)x(U'R'UR) (UR'UR)
(rU2’RU)(R2ULU)RU

P2 - 32 - Probability = 1/54

fRUR'U)F

y2F(URU'R) F'

P4 - 44 - Probability = 1/54
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I-Shapes

I]

fRUR'U)(RUR U)F
Y2F(URU'R) (URU'R)F'

11 - 51 - Probability = 1/54
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(RUR'URU)Y(RU'R)F
| 12-52- Probabilty = 1/54

—

Fish Shapes

]

(RUR'U)R'F(RZUR'U)F'
[y'rR2U2 (RU'RU)(RUTR)
F1 -9 - Probability = 1/54

”(R U2) (R2'FRF) (RU2'R))
F3 - 35 - Probability = 1/54

—

PP

Knight Move Shapes

H

——

[rU'F) (U'rUF) zx (U'RU)
FURU2R)(URUR)F

K1 - 13 - Probability = 1/54
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H
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(rur)(RUR'U)(ru'r)
H K4 - 16 - Probability = 1/54

—

Awkward Shapes

+H

” A1 - 29 - Probability = 1/54

H
H

A3 - 41 - Probability = 1/54

o

y(RUR'U)(RU'R) (F'U'F) (RURY)

(RUR'URU2'R)F(RUR'U)F

FUTr(URUR)(URUR)FUF
rUr(URUR)(URUR)rUF

14 - 56 - Probability = 1/108
(rU2R'U)R2(FUR'U) (rU'r)
y(RFRU)(RU'R2F)R2U'R' (URUR)
13 - 55 - Probability = 1/108

yrR2U2 (RURU)(RUFR)
(RUR'U) (R FRF)(RU2'R)

F2 - 10 - Probability = 1/54

FRURU)(RUR'F)
F4 - 37 - Probability = 1/54

y2(rur)(UrU'r)yRU'R
K2 - 14 - Probability = 1/54

(run(RURU)(rU
K3 - 15 - Probability = 1/54

y'FU(RU2'R'U) (RU2'R'U)F'

V' (FRF) (R2U'R'U) (R UR) F2

A2 - 30 - Probability = 1/54
(RURURU2R)F(RUR'U)F

X (URUR) (URUR)xy (RURU) (RUR)
A4 - 42 - Probability = 1/54
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L-Shapes

—

F(RRURU)(RUR'U)F
L2 - 48 - Probability = 1/54

—

- E E
)

rUu'r2’Ur2Ur2'U'r

L3 - 49 - Probability = 1/54

|(" U'RU) (R URU)R U2 r
yFU2R(URUR) (UR UM

| L5 - 53 - Probabiliy = 1/54

Lightning Bolts

|](rU R'URU2'r)
B1 - 7 - Probability = 1/54

E11
H
|] —

H
[

|]r'(R2UR'URU2'R')U rR'
B3 - 11 - Probability = 1/54

—

HEdH

y2(RUR) (F'U'F) (UR U2'RY)
F(RURU)F (RURUR U2R)
| B5 - 39 - Probability = 1/54

No Edges Flipped Correctly

y (RU'R2' D) (rU'r' D) (R2ZUR))
rURUR U2 U ((rU2R'URUY)
01 -1 - Probability = 1/108

10

—

lyr(RZUR'U) (rU2'F U) rR'
03 - 3 - Probability = 1/54

I]

06 - 18 - Probability = 1/54

Y(FR'FFR)U2RU'Yy(RU'R'F)
ﬂ (RUR'U)(R'FRF)U2' (R'FRF)
05 - 17 - Probability = 1/54
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(fUR'URUZ2'F) (F U'RU'R U2' )

YR'zx(UR'UR)(UR'UR)F
RUXx(RURU)(RURU)XUR
y'x(URUR)x U2 (RU'R'U)(RU2'R)
L1 - 47 - Probability = 1/54
rur2U'r22U'r2Ur'
yY(RU2RURUR)FRURU)F

L4 - 50 - Probability = 1/54
(rUR'U)(RU'R'U)RU2'Y
y(rU2’R'U)(RUR'U)RU'Y

L6 - 54 - Probability = 1/54

(rU'RU'R"U2'r)
B2 - 8 - Probability = 1/54

r(RRU'RU'R'U2'R)U'r'R
B4 - 12 - Probability = 1/54

(R'F)(RUR'U)F' UR
B6 - 40 - Probability = 1/54

y(rUr)U2’ RU2'R'U2' (rU'r)
02 - 2 - Probability = 1/54

yrRU (rU2'rU) (RU'R2'r)
04 - 4 - Probability = 1/54

FRURUR'U)rx(R2URU)
(FU2RURU)(RU2R'URU'T)
07 - 19 - Probability = 1/54
rRURUR'U)r2R2(URU'r)
(fUR'U)r2R2 (URU'R)U'FR

08 - 20 - Probability = 1/216
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